


 
 
 
 

  
  
  
  

  
  
  

  
  

  
  

  
  
  
  
  
  
  

  
  
  

  
  

  
  

  
  

  
  

  
  
 

 
  

  
  
  

  
  
  

  
  



  
  
  

  
  

  
  
  
  
  

  
  
  

  
  
  

  
  

  
  
  
  
  
  
  

  
  
  
  
  
  

  
  

  
  

  
  

  
  
  
  

  
  
  
  
  

  
  
  



  
  
  
  

  
  
  
  
  
  

 

 
 

 
  
  
 

 
  
  
  
  









































































































  
  
  
  
  
  







































































ddata example; 
input  grp trt01a $  outcome $ count ; 

datalines; 
1       Treat-A        2-Fail        1      
1       Treat-A        1-Succ      189      
1       Treat-B        2-Fail        4      
1       Treat-B        1-Succ       88      
run; 

proc ffreq data = example; 
table trt01a*outcome /riskdiff(CL=(exact)) ; 
weight count; exact RISKDIFF(METHOD=SCORE); 
output out=ciexact(keep=_RDIF1_ XL_RDIF1 XU_RDIF1 _RSK11_  _RSK21) riskdiff; 
run; 



c 
ddata final(keep=A1 B1 Estimate LowerCL UpperCL ocharc1); 
set ciexact; 
label Estimate ="Percentage Difference" 
LowerCL = "95% Lower Confidence Limit" 
UpperCL = "95% Upper Confidence Limit" 
A1 = "Percentage of Success in Treat-A" 
B1 = "Percentage of Success in Treat-B"; 
Estimate=1100*_RDIF1_; 
LowerCL = 1100*XL_RDIF1; 
UpperCL = 1100*XU_RDIF1; 
A1 = 1100*_RSK11_; 
B1 = 1100*_RSK21_; 
ocharc1 = right(compress(put(Estimate,88.1)) || '% (' || compress(put(LowerCL,88.1)) || '% 
to ' || compress(put(UpperCL,88.1)) || '%)'); 
run; 




























